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Question Number : 1 Question Id : 4557344001 Question Type : MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

If /:A—Bandg:B — C are two functions such that gof: A — C 1s a bijection. then which
one of the following is always true?

gof: A— Caf B HRooHsdn edhgbity f1A— B, g:B— Cul Dok @ohHdne

&08, & §obTdS B JQHTEr HegS0?

Options :
fand g are bijections

i fHobodn gen B Heaoodren

fis an injection and g is a surjection

fag e38 HhohHdn Sododn gad Doyl EHBIoHBEN

f1s a surjection and g is an injection

; feg Dol HacHdn HBodn gaf eigd Haiohin

f1s a bijection but g 1s not a bijection

fal &gho Hhodhdn, 50 gwl Hyho BaoHo st

Question Number : 2 Question Id : 4557344002 Question Type : MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical



If fR>R issuchthat f(x+3¥)=f(x)+f(y) forall x. vye R. f(1) =7 and

n
> f(r)=14112. thenn=

f R— R «36, @8 x, ye Rod f(x+3)=Ff(x)+f() edogtn tobr, f(1)=7T H8c50

]

S F(r)=14112 ©ond, n=

—

r=1
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Question Number : 3 Question Id : 4557344003 Question Type : MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical
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Question Number : 4 Question Id : 4557344004 Question Type : MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical



1 3 32)

The values of # such that the matrix | 2 5 ¢ | has no inverse, are
4 T—t -6
1 3 2
Se@E |2 5 t |8 Do BHom GoBoH Ko foenden
& T—F —6

Options :
{ 3,2
5 3,2
3 =3.2

o
g 2y A

Question Number : 5 Question Id : 4557344005 Question Type : MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

If the point P(a, B. y) lies on the plane 2x + y+z=1 and

| 1 9 1]

[{2’ b :.f] g 2 1 :[U 0 O].ﬂlﬂlﬂl'l'ﬁj—-f:
7 1

o Plo, B, y) $5de0 2x+1v+2=1 2 4ol 58050,

P 9 1
[@ 6 7]|8 2 1|=[0 0 0] woxnd, o2 +B2+7 =
T 3 1_
Options :
1. 34
2. 43
3 68



Question Number : 6 Question Id : 4557344006 Question Type : MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

If the system of linear equations givenbyx +v+-=3. 2x+2y—-=3.x+tv—z=11s
consistent and if (xg. . Zg) 1s a solution. then 2xy+ 21 + 9=

B

RGBS D8PS HAECrY DY

18

xtyptz=3 2+t 2p-z=Fxty-—z= LA
Hordtn eHdr SHdatn (xp. V. Zp) w8 TS @o0d, 2xp+ 2y + 9=

Options :
1. 0

Question Number : 7 Question Id : 4557344007 Question Type : MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

If = :_\/;:f then (_1[:'1 g -.]105 =

J3+i

.('__mlez ')“5 "

o= 50308, 9N =
2 -
Options :
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Question Number : 8 Question Id : 4557344008 Question Type : MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical



If u+iv=————.thenv=

U+iv=———— wond, edvd ¥y=

Options :
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Question Number : 9 Question Id : 4557344009 Question Type : MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Let A(3 — 7). B(2 + i) be two points in the Argand plane. If the point P represents the
complex number = = x + /1. which satisfies |- — 3 + 7| = |z — 2 — 7| then the locus of the
point P is

A(3-1). B(2+1) o ssfod 0506570 Both HothHen sdfomro. Hohd) P ‘p’mégéomg
z=x+iyQ rdde ed z-3til=|z-2-1 % 8y 507, = Hoth P @»8) Sohddan
Options :
the circle with AB as diameter

| AB argdanm e SyHhn

the line passing through A and B
A 538050 B © hom &6 By

the perpendicular bisector of AB
AB § ©02 H58000ES0D



the ellipse with AB as major axis

AB Lo gdom e 5(5556;&5&3
4. == &

Question Number : 10 Question Id : 4557344010 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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{ 1
Ifa—cc-[ ]—I—.r'sii ] then Re(a+a +a +a4+a )
ST\ .. (8m) g "oz 9
a= cc--:_.[— +is1mn AIO03, Re(a+a“+a3+a4+a5}:
13 wEE \
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Question Number : 11 Question Id : 4557344011 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Let a. b and ¢ be three positive real numbers such that the sum of any two of them 1s greater
than the third. All the values of A such that the roots of the equation

> +2a+b+e)x+3h(ab+bc+ca)=0 arereal. are given by

B8 RS dopgen a, b SHrdodn ¢ oS Jookotd IngDoa HHrd TOS0B REHT

&0BLnaoHEod. 2+2a+b+ex+3h(ab+bec+ca)=0 3B0E), doreren Jrhd
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Question Number : 12 Question Id : 4557344012 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

a _|.,g;
Let f{x)=(x—a)(x—b)- ] I If 7(x) =0 has both non-negative roots. then the
minimum value of f(x)
- - fa+b )
f(-‘f}zh'—ﬂﬂl'—b}—| S ‘ w580k, f(x) =08 Bodr 2a1nd385 SHreren 4ol

g

Jf(x) Bog), 808 dend

Options :
_[a+b)
i 4
(a+b)
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—{ﬂ+5}2
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Question Number : 13 Question Id : 4557344013 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



If a. b and ¢ are the roots of +°> + 4v + 1 = 0. then

1 1 |
S I
a+b b+rc

ct+a

a.b.cen ¥ +4x+1=0 _"JSET ;imari?:i, bty

1 1 1
+ + =

a+b b+ec c+a
Options :

-
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g

Question Number : 14 Question Id : 4557344014 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If the sum of any two roots of the equation x> + paZ + gx + 7= 0 is zero. then

BEEaH0 B+ pal + gx +1=0GB0E), I Boky Sirare Indo D08 @wond, edvE
Options :
| T=Dpq
T
. PP =1

2:
g F =

4. pq}IZI

Question Number : 15 Question Id : 4557344015 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

LetS={0.1.2.3...100}. The number of ways of selecting x. v € S such that x #y and
x+yv=1001s

S =4{0. 1. 2. 3. ... 100} =5§Forr0. x # v dbdasw x +y =100 ?:TD_:};J'%J&JE X.ye€e Sod



Options :

31

40

13

4 100

Question Number : 16 Question Id : 4557344016 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If all the seven letters of the word LEADING are permmted 1n all possible ways and the
words thus formed are arranged as in the dictionary order. then the word in 2017% place is

LEADING &3 350650 I e@5orodr I8:58) Hareom @by, sdforr J6)&H5 Hored
DotnHbe Do Edoods® ©50BySY ), 20178 m;:éo 3 Do

Options :

| ELIGDAN

EINADGI

[

; ELINADG

4. EINDAGI

Question Number : 17 Question Id : 4557344017 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

From a group of 10 men and 8 women, the number of ways of forming a commuttee of
8 members with not more than 5 men and not less than 5 women 1s

10 5508 HHen, 8 506 Ho ddnmoho Hod 5 08 S5 D 008 Hdrveomd,
5 808 $80) & So0b RETI B0 SoBLLY, 8 H0h Dehgen He &8 EMBD JGTEHOT
DT DoP§

Options :

| 8061

8060

L3

3 20997



4 20952

Question Number : 18 Question Id : 4557344018 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

144

1
1

=
+76

A= | =

The number of rational terms in the expansion of | °

P

14 4 76 |

i 2 @), DRYST wEddodh Hre Dopg
Options :

3D
1 o I
2. 23
3. 12
413

Question Number : 19 Question Id : 4557344019 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

1 5 ST ~
A A8 AETE T
Options :

3W3-245

25-3.2
5 B3

#W3-242

3. 943

3535

Question Number : 20 Question Id : 4557344020 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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Question Number : 21 Question Id : 4557344021 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The maximum and minimum values of the function /: [R— R defined by

f(x)=5cosx+3cos

X +§ ‘+ 8 forall x € R, are respectively

e = ; T ) oy o Wl e - +
=& xe RE, f(x)=S5cosx+ :.c.:._c,[ T+— |+S e ¢SRS BIobo 1 [R— RAB0E),
i J |

HoD, 058 Jenden SE&Bm

Options :

| 15.1

[
]

|
oo



Question Number : 22 Question Id : 4557344022 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

I e {x = [i}.f_’fz']l/tan x—tan” x > {}} and B = 1'1 elo. ”_-Jz']//|51'11 x| < %} .thenANB=

.A = {x e|o. Eﬂ']/tmx—tanz g D} S5HBosn B = ][ Ye [D.E:z']f/|sin _1;| < %l[ wond, ANB=
Options
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Question Number : 23 Question Id : 4557344023 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The muumber of solutions of the equation 4 c0s20-cos30=sec 6. when 0 <0 <m.1s

0<0<me=onsded 4 cos20-c0s30 = sec B Hdng8m0 @) Frdhe Ddowg
Options :

f B

) 4

Question Number : 24 Question Id : 4557344024 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



I E‘as_l[ % .+C05_1 = ; then 91 —12xv ;;0554—41

o "=

Cas_l(i

|
- |

+Cos™? I 250008, Eh —12:\;1":05!94-4‘1-‘2:

t.u|-:‘

Options :
] =
| 36sin-6

n 3?‘311129
5 39sin’0

- o ]
36cos-0

Question Number : 25 Question Id : 4557344025 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Ifx:lage|:c0t{ g-ﬂ? ﬂ and 55[‘4‘2’ }

‘|
J then consider the following statements:

_E.E wonHayth & $ob PaSTod HdNbodod:

4,

X= lﬂgg[mt{ §+ 7 H 2003n 6 E‘

I:coshx=sec 28

II: smhx=—tan 26

Then which one of the following options 1s true?

@iy & §oh adFes J6 B&gSn?

Options :
11s true and I1 1s false

; I5egain obain I wdeghn

11s false and IT 1s true

i I&r.:‘cf:wﬁgén Sofotad Hsﬁégrﬁm



Both I and II are true

; IS8 Il Godr Ei-éﬁéé:o

BothIand II are false

A I 56050 oot rf.-?i@fgéﬂ)

Question Number : 26 Question Id : 4557344026 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

In AABC ifa=2.b='\/E and ¢ =~/3 +1. then sin? C —sin?A =

AABC &° a=2.b= /6 58050 c=/3+1 =on3, wihvdds sin? C —sin?A =

Options :

1++/3
4

(%]

)

ot

-
B e

Question Number : 27 Question Id : 4557344027 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

In AABC. a°.cos(B— ) +E}3.c05(C—A) - {’3.‘:(}3{:1—3} =

AABC &, o cos(B—-C)+ 3}3.-.:05(1‘:‘ —A)+ ¢ .cos(A—B) =

Options :
yabe

a+b+c

L3

3 2 abc



g abe

Question Number : 28 Question Id : 4557344028 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

: R T is e R« D
In AABC i T i =

AABC ",

Options :
1 +15+13

1. 5

I -|—_?L_,—|—}§

2s

15+ 15
3 2
it T

4, 3s

Question Number : 29 Question Id : 4557344029 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

a.b.¢ are three vectors such that |E| =3. b ‘ =15, |F| —7.1f @.b.€ are perpendicular to

the vectors b +¢. ¢ +a. a +b respectively. then J la+b+c) —2=

@l =3. ‘5‘25 e|=7 wdoghatnm @.b.c o ord Sdden. a.b.c o SBm
FolgEsE AR e [ =5 - N TR
b+c. c+a. a+b Jbdod eonomr <08, =Hv (f? +b +c1} -2 =
Options
1 15
4.9
22



Question Number : 30 Question Id : 4557344030 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If @.b.¢ arenon coplanar vectors. then the point of intersection of the line passing through
the points 27 +3b —¢. 3@ +4b —2¢ with the line joining the points a—2b +3€.

ST

a.b.c oo odd0hH BHIBB, 2a+3b —¢.3a+4b —2¢ LothHo HoFIFE0P BS1BT5w0

ad—2b+3¢. a—06b+6C DoHHes end Swe nodks Dok
Options :
1. a+b+c

Question Number : 31 Question Id : 4557344031 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

i - ; . S T =R - SR P .
If @.b.¢ areunit vectors and the maxinmun value of ‘a —b‘ - ‘b -7l + |C - ﬂ'| 1s k. then

k(2a®+3b —4c?)=

' =2 = i w
a.b.c oo odhrddy 2Hdo0n, ‘t’f —b‘ +‘b —C‘ —|—|c= —ﬂ'| B8 (B Dend k.:-:m;ﬁ”—éj@1

Options :
; 6



Question Number : 32 Question Id : 4557344032 Question Type : MCQ Display Question Number : Yes Single Line Question
Optlon No Option Orientation : Vertlcal

letg=2;7 +7 T2k and p=7 —|—Jr be two vectors. € is a vector such thﬂt a.c =|c| and

e—a|= 2+/2 . If the angle between @ x5 and € is 30°. then ‘{ axb)x F‘ is equal to

a=2i+j—2k 0050 b=7+j @ Tod SbFen. T wd 36% TE:|¢:—*| soDas

|6 -] = 242 wobgtaon. TxB 005 To S5 Sz 30° ond, siy [(T7x5)xT] =

Mo

Question Number : 33 Question Id : 4557344033 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Ifr.r—.r-l— j+k.b=2i —j+3k Elll(lf‘:E‘—Ji' and if

67 +27 +3k = 4y (@%b )+ A (b T )+ 45 (%) then (Ay. Ay A3)=

T=i+j+k.b=2i—j+3k.c=7—] wdsr,

67 +27 +3k = A (@%b )+ 2y (b T )+ A5 (% T) wond, eseth (A Ay, A3)=

Options :
(11 4 19’
L5754



Question Number : 34 Question Id : 4557344034 Question Type : MCQ Display Question Number : Yes Single Line Question

Option : No Option Orientation : Vertical
fa=2i+j-3k.b=i-2j+k.e=—i+j—4k and d =i + j +k. then

(@xB)x(exd)|=

BT T - T A TR SBE J=T+

— |
; I
a2
=
gl
[l
bl

Options :

| 5V114

L

P
[

Question Number : 35 Question Id : 4557344035 Question Type : MCQ Display Question Number : Yes Single Line Question

Option : No Option Orientation : Vertical
The standard deviation of the numbers 22. 26. 28. 20. 24. 30 1s

) G308 (1§80 DI

22.26. 28. 20. 24, 30 @3 dopge
Options :
.
1,2
q 2.4
; 3.24
3.42



Question Number : 36 Question Id : 4557344036 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The marks obtamed by students A and B in 3 examinations are given below

Marks of A 30 20 40

Lh

Marks of B 70 0

A Bed amghiosn 3 H0508° 50 Srdy oo Bob o wanon.

A d@ng .ﬁ?d:)grm: 30 20 40
B -ﬁ):is'ﬁr érd:b@a 70 0 5

The ratio of the coefficient of variation of marks of A and the coefficient of varation of
marks of B is

O

A Bng), Srdy e ddedrofindgss Sdotn, B 5ng), drdy o ddosrosdndsotie JG

Options :
p 301

q 58’\/3

4+ 5:361

Question Number : 37 Question Id : 4557344037 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If a number is chosen at random from out of the four digited numbers formed by using the
digits 0. 1. 2. 3. 4. 6 without repetition. then the probability that it is divisible by 4. 1s

0.1.2. 3. 4. 6 =o80d HIKE BHhom GHATI0N JGFSKe Tenrh wose dopgers®

Hodl eE0TD0 oSrdyihEorm Qs %, @b 4 T grhodedirds fe Dogrdgds

Options :
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Question Number : 38 Question Id : 4557344038 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Four cards are drawn at random from a pack of playing cards. The probability of getting
exactly two cards from the same suit and the remaining two cards from two different
SUits 18

n D S0 o §4 $H08 drdMEor Teah D8 Sng el 8. o8’ pihgor

) =%} L1 %

Body 28 Snf o &8 Sep (suit) Sod, HADS Do HE D08 ©B ok DD Jpe
o L= =5

Options :
72 x169
| 425x49

24x169
, 425x49

18169
3 42549

6169
4 425x49

Question Number : 39 Question Id : 4557344039 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



A random variable X has the following probability distribution

X=x -2 -1 0 1 2

P(X ) : k L k :
X=ux) = : = E =
=y 6 4 6

2.8 aﬁrﬁ;ﬁﬂ{}é wood X & §ob a’m?;‘-*éé@‘-' JEraTd) §O0 wob

xX=x = -1 0 1 2

P(X=x l k l k l
2% | 4 6

The variance of this random variable is

o™

£ oirdhing dood dnd O
[T 143 —a

Options :
1.0

o X

| "-.M

Question Number : 40 Question Id : 4557344040 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



, , . _ . S 1 3
For a binomual variate X with parameters # = 5 and 2 :*_4' if & :EP{XQE} and

'ﬂ:P{X*_i 2).then256 (p—a)=

3 1

n=>5 pZie_)f“-SJ doedodoeon $OAS w8 H5Hd Sood X §, ang{XE 3) 508050
P=P(X<2) wonsd, wiyk 256 (B—a)=

Options :

p —1

2. 0

73

4.2

Question Number : 41 Question Id : 4557344041 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Let A. B and C be three points i a plane. The locus of a point P moving such that
PA’+PB*=2PC’isa

G
i
Fh
]
ok
(o]
4=,
s
s
g
w
|
(]
'-d
)

A. B. Cen 2.8 deoetd Hrdh DochdHednso
3003 ef HothP P Bng Doddgo &

Options :
Straight line

| 8¢ B

Pair of straight lines

33 B asnif0

Circle

Parabola

4 SO0



Question Number : 42 Question Id : 4557344042 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

; 52 -
When the coordinate axes are rotated by an angle Tan 1[1 | about the origin. then the

i ) | i i
equation x- + 1 =9 is transformed to the equation

£ g K o -1 i. 3 \ = I £

Saredochyd) Hdom AdrHs uged Tan [E §'adnd” glivoedy Dobodddvd,
2 $) B — .l 5

X+ =9 = 3080000 Do HB8I0E DoEddn

Options :

| X2—32=9

N X2+ j'z +2xy=4

Question Number : 43 Question Id : 4557344043 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Let a. b and ¢ be distinct and none of them is equal to 1. If the lines x + av + a = 0.

a b s

bx +v+ b=0and cx + cv+ 1 =0 are concurrent. then the value of ] + e + " 1s
a— o

a. b, c oo DHIHn HBA% 2 e;é&ﬁ 1 § $8r50 56508 0d. H0¢ Open x+av+a=0.

a a b e

bx+v+b=0.cx +cv+1=0uHise0 wond, advd ia + DD
= g=1. -1 &1

Options :
11
gl
32
4.0

Question Number : 44 Question Id : 4557344044 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



If ad — be # 0. then the area (in sq. units) of the parallelogram formed by the lines
ax+by+2=0.ax+hy+5=0.cxt+dv+3=0andex+dy+7=0i1s

ad —bc#0=ond, ax +by+2=0.ax +byr+5=0.ex +dyv + 3 =0 $0cs»

ex +dy +7=0e3 36¢ dpod J6E SSrodfEdhiye Frogo (S oHrIls’)

Options :

o
|ad —b{‘|
1.

5
|fm’ —E}c‘|

L3

_ T
|c?d —f)f‘|

12
1 |-:m’ —bc|

Question Number : 45 Question Id : 4557344045 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The circumcentre of the triangle with vertices at (—2. 3). (1.-2) and (2. 1) 1s

(2. 3). (1. —2) 50050 (2. 1) 03¢ doeoHrdnS @ahad D058 Soio
Options :
(623

1 l??,




Question Number : 46 Question Id : 4557344046 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If the straight line 2x+ 3v+ 1 = 0 bisects the angle between a pair of lines. one of which in
this pair 1s 3x + 2y + 4 = 0. then the equation of the other line in that pair of lines 1s

.8 DY By S0 N .8 JE¢ Op 3x +2v + 4 =0 uhsr, = D¢ Oy 0201

-

G5 Mo 5"‘“&‘%1 NO¥ O 2x+3v+ 1= 0 S hgpods 8508, e H8¢ Dy o‘n}ﬁnoﬁ"@
S8 B¢ By D80S

Options :
Ix+4y-9=0

1.
2 6x—=Ty—=14=10
Ox +46v—-28=10

Ox—23y—12=0

i

Question Number : 47 Question Id : 4557344047 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The area (in sq.units) of the friangle formed by the straight line x + y = 3 and the angular
bisectors of the pair of straight lines ¥ — 12 + 21y = 1. 1is

{1L

S lel-d
Boped I60E @He Progo (5. ohrddesT)

A

- & 2 2 5 ?
B0 HO¢ Oy oiwifjo x”—y° + 2y =1 g, S SHolgpod

= o)

Options :
11

Question Number : 48 Question Id : 4557344048 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



The product of the lengths of the perpendiculars drawn from the point (—1. 5) to the pair of
lines 2x2 —xy— 312+ 6r +v+4=01s

(=1. 5) Dot Sod X —xy -3+ Gx+v+4=0%58¢ Bgr a8 ADS ooere
FEde o0
Options :

68

2

68
T

o)
h

5

=
(]
o

Question Number : 49 Question Id : 4557344049 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

ABCD is a square with side 16 units and A 1s the origmn. If the equation of the circle
circumscribing the square ABCD isx? +12 =4k (x +v). then k=

A Sg dre Hothd £a5 ABCD @ SddHan D0, o rdy 16 ghray.
ABCD #8438y 505)80 @ S)fo 3dnsdndn x2+12 =4k (v +1)=ond, efyt k=

Options :

i

2 4
316

4, 64

Question Number : 50 Question Id : 4557344050 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



It P{T . vy) 1s a point such that the lengths of the tangents from it to the circles
. then the locus

—-11—61‘— 12=0and x2 +1~+61—|— 18y + 26 =0 are in the ratio 2:3

n
v+

DfP 15
P(x;. 1) w3 Do) S0 x2+172 —Adx—6v—12=058c8n x*+1r-+6x+ 18v+26=0
N 2:3 wond, P @ng), HokdHdo

3 f“\ﬁ'ﬁaﬁj@ e Q5N

T

NSTOIBY §1A

Options :
x+y-+24x—36v+62=0

w2432 - 24x+ 36y +62=0

b

¢) B
A+ =24y —54v—88 =0
2 ¥ iy £
x*+ye+24x+ 360 +62 =0
Question Number : 51 Question Id : 4557344051 Question Type : MCQ Display Question Number : Yes Single Line Question

Option : No Opti0.n Orientation V.ertical
If the lines 2x + v +12 = 0. kx — 3y — 10 = 0 are conjugate with respect to the circle

=0 S280%50 kx — 3y — 10=0Dpen

2

X +y —4x+ 3y _1=0.then k=

—4x +3y—1 =0 5850 Sarg, 2x+y +12
[l o &

2
X -I-J'
SooSnr o8, ey k=

Options :
jo

[
|
L)

h

Question Number : 52 Question Id : 4557344052 Question Type : MCQ Display Question Number : Yes Single Line Question

Option : No Option Orientation : Vertical



. 2
The length of the transverse common tangent of the circles x~ +_1‘2 —2x+4y+4=0and
"! 2 =
X+y+4x-2vy+1=01s

2+ j.j —2x+4v+4=0Dbcs» X+ }‘3 T4x—2v + 1 = 0 aymes o &858 s 8

D30 PG

Options :

L3
J17

[

+
%)

Question Number : 53 Question Id : 4557344053 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If the angle between the circles x* +1 L 6v+41=0and o+ _1‘3 +x+6v—-59=0
1s 45°. then a value of k 1s

©wond, k @nE), 28 Jend

Options :

1. 0

Question Number : 54 Question Id : 4557344054 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If the lengths of the tangents drawn from a point P to the three ciurcles X+ .13 —4=0.
% 7 ] ) .
X" +yv —2x+3v=0andx +1~ + 7v— 18 =0 are equal. then the coordinates of P are

A TR iy S -
4y —4=0x"+y —2x+3y=0>D008ck0 2" +¥ +7y— 18 =0 dard Smedr,
P D08 Soodk HHS a‘nﬂcﬁﬁa}@ srdyen JDrSHs, P @ng ddrosten

Options :



@9

(3.4)

[

Question Number : 55 Question Id : 4557344055 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

For the parabola 1 24 6v— 2x + 5 = 0. match the items in List-I with the suitable item in
List-IT given below:

2

HorRecho ¥V T 6v—2x+5=08 exdig=-1 5°0 woredh arda-11e5°0 H0mond woTad
e3ef 30 oo

List-I List-II
erd)a-1 arda-11
(3 )
I) Vertex A) l - :"J
%go
3 )
II) Focus B) [E = JJ
PR RN,
II) Equation of the directrix ) 2x+5=0

Lot Hnddno

IV) Equation of the axis D) 2x+y+3=0
egSy HdnEdmo
E) »+3=0
F) (24-3)
The correct matching is

STl bby a5t

Options :



I I v
F A E C
I I I v
9, F A B E
1 I jill v
3 A B C D
1 I I I
, F C D
Question Number : 56 Question Id : 4557344056 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
- X £ " el »
If 5x— 2y + k=0 1s a tangent to the parabola v~ = 6x, then their point of contact is
= = =] iz - -
VYV =6xdudodiris Sx—2v+k=0 w8 D30 wond, add Y Hothdy
Options :
(6 6)
| L 508 ]
2]
, \5°25)
[ 6 6]
SNES 5
=]

4 \35795)

Option : No Option Orientation : Vertical

Question Number : 57 Question Id : 4557344057 Question Type : MCQ Display Question Number : Yes Single Line Question



If S and S' are the foci of an ellipse. B is one end of the minor axis and .|SBS' =907, then
the eccentricity of that ellipse 1s

S 08 S en af ASMESN Gud aehen, Pracgsn Gud wf =odr Do)
P r el elhs, oy 5 )

‘
L

B 500050 [SBS' =90° wond, & B3 5)dsn Gng), 8,058

Options :

by

a4

L
=l

b3 | -

Question Number : 58 Question Id : 4557344058 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The points of intersection of the perpendicular tangents drawn to the ellipse 457 + 9;.3 =36
lie on the curve

B B _ ” ot ~ _ o
427 + 9" =36 BES)Z:08 ADS voa NHGope Pods HodhHos &od JEo
Y ) — ol T x B e
Options :
Y Z
| FhyP=13
2 2

Question Number : 59 Question Id : 4557344059 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



If the eccentricity of a hyperbola is < . then the eccentricity of its conjugate hyperbola is

| L

0003, T JH005N) ©&SHT BB G308,

s |

2.8 @830doohin @), &) ol

& o

Options :

| T

b | = | ta

Lh| oo

Question Number : 60 Question Id : 4557344060 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Ifthe verticesofa AABC are A=(2.3.5). B=(-1.3.2). C=(3.5.-2). then the area of the
AABC (1in sq. units) 1s

AABC 3omey A= (2. 3. 5). B =(-1. 3. 2). C= (3. 5. -2) mows, AABC Jregdn
(3. 0SardéyeT)

Options :

L 642
83
3 2
4 82

[

Question Number : 61 Question Id : 4557344061 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



. S S e o o :
If a line makes angles Tan I\E . Tan 1 2= with X-axis, ¥-axis respectively. then the angle

NE

made by it with Z-axis 1s

\[_E

08 56¢ By X-wgdn, Fegsnos $68m Tan W7, Tan 1= SFosoes B:508,

V3
e D8 Dy Z-0gS5nd® dodn Fodsn

Options :

SRR

o | H
=]
=

o | A
G
4

W | X
-2
=

L | M
1
=

Question Number : 62 Question Id : 4557344062 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A plane passes through the point (3. 5. 7). If the direction ratios of its normal are equal to
the intercepts made by the plane x + 3y + 22 =9 with the coordinate axes, then the equation
of that plane 1s

a8 doo (3.5.7) =3 Hohd Hhom FH0d. o0 whoowdy DN HE JyEyen,
x+3y+2z=9 doo AErHE wpod do woddporoty HHrEHH@08, & doo G0

Henédoo



Options :
X tPpEE=3

e +2y+32=105

L2

12x+4y+ 6z =49

g

Gx +2y+32=49

Question Number : 63 Question Id : 4557344063 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

o, o
et for Grael

If /:10.2) = R isdefined by f(x)=1 I
‘h for 1sx<2

where £ > 0. and f1s such that lim f(x)= lim f(x).thenthe value of &2 is

x—l x—l1
(142 |
1+— O0=x<ls8
k>0uddr, f(x)=1 k
| A 1sx<28

m A8eHERS8 £:[0.2) - R Bdobo, m f(x)= lm f(x) ecdgetnod, ehvd 2 Jend
by ek , le - et ® 1)
X— T—%

Options :

-
], =

Question Number : 64 Question Id : 4557344064 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



sin(a +1)y+smnx
( ) . =<
x
If the function /: R — R defined by f(x)=< b =0
Sl
X >0
7
x/ 2
1s continuous on [R. thena + b=
sin{a +1)x+smnx
.x<0
&
Flxi=4 b Ja=1
Jen? 5
x>0
3
2
v OdeDodacs f:IR— R o3 @dobho, R -.Iiﬁf:tlzlgilca_js_:._ w3l a+b=
Options :
e
g
3.1
43

Question Number : 65 Question Id : 4557344065 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

x|

Letf bedefinedonD=R - {-1.1} by f(x) = 1—|| Then
=ik 1'
e ]
D=R-{-1L1} % f(x)= 1—|| m HODETSH e onro. wdHvd
— |x . .

Options :



f1s differentiable on D
D3 fesfodohsn

fis differentiable on D exceptatx=10

=058 &5 DB feosdsodohin

f1s continuous but not differentiable on D

2 feddidbn, 0 edsodohHdn s

f1s differentiable but not continuous on D

T ol

D % feifoiohin, 50 @Iih6sn s

Question Number : 66 Question Id : 4557344066 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If x=secf—cosf. y=sec” —cos" B then j—1 =
x

o
x=secf—cosf. y=sec" 8—cos" § =ona o

Options :

Question Number : 67 Question Id : 4557344067 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



If v=asmx+(5+2x)cosx. then y"+v=

y=asmnx+(5+2x)cosx =monzé@, y"+y=

Options :
| 4 cosx

— 4 cosx

[

3 4smx

4 —4sinx

Question Number : 68 Question Id : 4557344068 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The area (in sq. units) Df the triangle formed by the tangent and the normal at the pount

2

b

Fa

I % \/_ ] to the curve — = —+ ;—1 =1 and the X-axis is
2 2

38 608 0w, 2dHeoaty bodn X-uioed®
&3 ¥ b

4 Ef?b

Question Number : 69 Question Id : 4557344069 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



The mterval in which the function f(x) = 2x~ —log x. for x = 0 decreases. 1s

x>08 fix)= 217 —log x, =3 Poho uSsT00 Bod woddo

Options :

 (2.4)

1)
0. 7]

Question Number : 70 Question Id : 4557344070 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Hfix)=(x—1)(x—2)(x—3) for xe [0.4]. then the value of ¢ € (0. 4) satisfying Lagrange's

mean value theorem. 1s

.xe[ﬂ.:l] §, f(x) = (x—1) (x— 2) (x — 3) w003, Byrod HdgH Hend drrododd S

208 c e (0.4) B Hend

Options :

34_-\5

i 3

-

-
I+
i
L

19
[H-
b | ey

L
-+

v | &5

Question Number : 71 Question Id : 4557344071 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



The curve f{x) = ¢&" sinx is defined in the interval [0. 277]. The value of x for which the slope
of the tangent drawn to the curve at x 1s maximuum. 1s

fx) = €' sinx $§5n [0. 27] =of880e5° DODoDDASH. & SE°Rs x 58 DS HEoY
e, (BRD L) 0B x Dend
Options :

T
4
T
2

T
6
T
3

Question Number : 72 Question Id : 4557344072 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

I" X1 E -
. (1‘+1}J1‘(.1'2 + x+1)

Options :

_1{‘\|'I2+I+l !

¥

Tan +c

4 .

1‘2 +x+1

2.Tan ™! +e

e

+€

1
i+—+1 |4

X

!



Question Number : 73 Question Id : 4557344073 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Ci353 X+ CGS:} X

=

R T o
S XY —+511 X
Options :

1 sinx—6Tan ' (sinx)+¢

. ; L L
smx—2(smx) +c
ﬂ'.

3 SInX —E{Si.ll:'f__}_l —6Tan_1{_51'111'} +c

4. sInx—2(sin 1) 4+ 5Tan  (sinx) + ¢

Question Number : 74 Question Id : 4557344074 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

I* ax

“fanx +cotx +secx +cosecy

Options :

L
—(smx—cosx+ XyFE
l. =

ko
= (simx—cosx—tanx+cot ."{:l +C

A

—(siInx—cosx—x)+c¢
=
iz

| -—
o (sinx+cosx—tanx—cotx)+c
4. =

Question Number : 75 Question Id : 4557344075 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

IHf(x)= jcosecj xdx . then f' il |
\ 4 )

fx)= | [cosecsxdr =008, ff

= | =



Options :

_%[3 2 —Slﬂg(\E+1)]+c‘

1.
—é_iﬁ—ileg[ﬁ—kl)_—kc
—E_Tﬁ+310g(\/5+1)_+f

3. 8L &
é[5ﬁ+log(ﬁ+lﬂ+f

4,

Question Number : 76 Question Id : 4557344076 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If @ and b are positive integers such that 5 > a. then

1 1 1 1
lim | —+ + +..4+—|=
n—swx|na na+l na+2 nb
& g ¥ . 4 1 —|_
b>a =6hgtotn a, ben gSTroTosoons, lim | —+ T =T ey
- = now| nta na+l na+2 HE}J
Op_tions:
lﬂgl —J
1 v il
. ﬂ]
2. "5
; log(ab)

4 logla + b)

Question Number : 77 Question Id : 4557344077 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

cT Xtanx
J — " dx=
0 secxy+tanx

Options :



—’T_E

(O]

3. 2
T(7r-2)
4 2

Question Number : 78 Question Id : 4557344078 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The area (in sq. units) of the region lying in the first quadrant and enclosed by the X-axis.
. g . 2 2 .
the straight line x— NE y=0 and the circlex” +1" =4. 1s
- . - o B 2 2 5 ot - 5
X-wg50, .1:—\/5.1‘ =0 36 0 005H a7+ 37 =4 e NS00 BH00SHRS, F00E

TES50G® God |Frodo Frwgo. (E. oHrdds®)

Options :

"-..ulk;.]

Question Number : 79 Question Id : 4557344079 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



If 7 and m are the degree and the order respectively of the differential equation of the
family of all circles in the XY plane with radius 5 units. then 27+ 3m =

XY deooe5® 5 oSrdén rgErdan Mo @) S50 HEn0aod Srood wHged

+&

HECS cﬁmé& S80S 50050 HBSrSuen H6HdHm L m mond, mde 21+ 3m =
O

Options :

3

|

Question Number : 80 Question Id : 4557344080 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

7 T : . . , :
If “u <X < 1 then the general solution of the differential equation

2 dv .
Cos” x-——(tan2x)y =cos x is

dx
[ 5 —— 3y 4 .
—— <X <— wond, wifos JdoEdmo cosT X-——(tan2x )y =cos x@NE), TF¢
4 4 dx o
AT
Options :
1| tan2x+¢
2! e inm—
1 2l 1—-tan“x
1[ cos2x+c
- i R —
i 2] 1—tan~ x
1] sin2x+c |
.T:_ )
3 2] 1-tan” x |
1[ sinx+ec |
2. el ——
" 2] 1—tan” x|

Plvsics



Number of Questions: 40

Section Marks: 40
Display Number Panel: Yes
Group All Questions: No

Question Number : 81 Question Id : 4557344081 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Assertion (A) : Energy per unit volume and angular momentum can be added dimensionally.

Reason (R): Physical quantities having same dumensions can be added or subtracted.

ESo (A): Sodyey Hoormr J5708 HSH0Srras Ho 50 Dbk Fdah @égﬁw?ﬂ
ErESIND (S0855y5)

@0 (R): 238 e fo FaSodHod Sodkonrd, Sgosesomra Bohdung

Options :

Both (A) and (R) are true and (R) is the correct explanation of (A)
. (A). (R) o0 Dodr 85500 HHoon (R). (A) $ 888 D886

Both (A) and (R) are true but (R) is not the correct explanation of (A)
, (A). (R) en Bodyr Segadn s* (R). (A) 8 885 H882 s

(A) 1s true but (R) 1s false
. (A) Hegasn 520 (R) CESLIGSY

(A) 1s false but (R) is true
(A’} 295¢8g2500 520 (R) H g0

Question Number : 82 Question Id : 4557344082 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A body 1s projected vertically upwards with a velocity “u” from the top of a tower. Tume
taken by it to reach the ground 1s ‘n” times the time taken by it to reach the highest point in
its path. Height of the tower is

.8 FD8ndo $r08 a8 SH0 ‘v’ IKod® JL £ denImr 8 Do, wd Lrdod DSOS
B8 Todn, b SSHG50SD EHED DoMhIHDH DHLH HLPFTOINIH ‘0’ VLY
wond THdo I

Options :



nu’ (n—1)
. 22

nu’ (n—2)

7 g

mu’(n —2)
3. 28

£
2 (m+1)
4, 28

Question Number : 83 Question Id : 4557344083 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A body is projected horizontally from the top of a tower of height 180 m with a velocity of
20 ms™!. If acceleration due to gravity is 10 ms= then match the following.

List-1 List-1I
A)  Velocity of the body after 1 second (in ms™) D 5
B) Horizontal displacement of the body after 1 second (inmeters) II) 20
C) Vertical displacement of the body after 1 second (in meters) ) 10
D) Vertical velocity of the body after 1 second (in ms™) V) 224

180 m <) e 2.8 3pfo Sod ef $HH% 20 ms™ Ffod §ae dSroddonr DTG,

g dedzeo 10 ms™ 2mond, & 18ob T8 2ENsHH0.

erda -1 e - 11
A) el D8R S0E HD afo (ms™1e%) Iy 3
B) a8 8k dogd 5509 §8 dSrodd rdglodo (Drrge) oI 20
C) &8 8 Soxgd 503D §ée won THEodo (DrérdeT) Imy 10
D) a8 8% Soxd 5539 §8e oon I (ms~! e5%) V) 224

The correct answer 1s

[BIHN HdroEas»

o

Options :



A B C D
Y I I I
A B C D
g i m N
A B & D
5 1Y I I il

Question Number : 84 Question Id : 4557344084 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Two towers A and B. each of height 20 m are situated a distance 200 m apart. A body thrown
horizontally from the top of the tower A with a velocity 20 ms™! towards the tower B hits
the ground at point P and another body thrown horizontally from the top of tower B with a
velocity 30 ms™! towards the tower A hits the ground at point Q. If a car starting from rest
from P reaches Q in 10 seconds. the acceleration of the car 1s

(Acceleration due to gravity = 10 ms=)

2875,8 20 mJdyie ABBdin Bud 3 Body 3noee g drdsn 200 m 3pdo A
S0k B&ea Hdroddorr 20 ms Hifod 8pdo B 398 4008 v 389 érdo i Ped
o, Ipdo B ok & ddrodbormr 30 ms FK0s 2pdo A3 abs DE8
50D erdn drd Q vl HoHIS @rsTon. P &g aom ni-e:a- 5008 2000005 .8 58

—a

Q& Bhord DS smwo 10 Do) wonB, s 57K K80
(Madoefe Sedeao = 10 ms ™)
Options :

| 1ms™

2 ms—2

[

3 3ms—

4 4 ms ™

Question Number : 85 Question Id : 4557344085 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



A particle of mass 4M which is initially at rest explodes into three pieces of masses M.

M and 2M. The equal masses move along X— and Y—axes with velocities 4 ms~ and 6 ms™

respectively. The magnitude of the velocity of the heavier mass is

TR0 %_3 S &3 4M (BSgordie &8 8w, [BSgorden M, M Sdosn 2M e H08) eone
DEMRIH0 BoBEH. JdrS Gagorden o S en X— 0o Y- egre Jod S0
4 ms™! Sobokn 6 msT e Hrrod® SDomron, wond JEN S BBgoes e SnE) B HOErHO

Options :

. Jﬁ ms_l

L 24/13 1115-;_1

3 Jﬁms_l

NE—
T 115

Question Number : 86 Question Id : 4557344086 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

As shown n the figure. two particles. each of mass “m’ tied at the ends of a light string of

length 2a are kept on a frictionless horizontal surface. When the nud point (P) of the string
is pulled vertically upwards with a small but constant force F. the particles move towards

each other on the surface. Magnitude of acceleration of each particle. when the separation
between them becomes 2x 1s

28758 m |85g0,de Body Smadne 2a rdyfio & GBSgorsdird P05 Bol
Fho 3¢ Shad, HHnd 82 Jdrodd dwon oS drad dfor GodaEon,
T80 Sy Loty (P) & E{;d@;ﬁ Sgeny werdn F & Oy e D8erASHYE, Sadnen
28 POFES wddngor d050D E6aron. a0 Sudg Grdan 2r &Ry, a;g‘zr g0
@08, drdmadn

Options :



E a

Question Number : 87 Question Id : 4557344087 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A particle is released from a height H. At a certain height its kinetic energy is half of its
potential energy with reference to the surface of the earth. Height and speed of the particle
at that instant are respectively

&8 S0 Hady S0k ardddard. gradddeo derg Sod Qe oron H&sds o°d

=% T

R&ed8e® Hrfo wond = oSt Tron Iy Hobofn H& Shdm

'w.| s

b

I3
an

3. 4

Question Number : 88 Question Id : 4557344088 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



A bullet of mass 10 g pierces through a plate A of mass 500 g and then gets embedded into
a second plate B of mass 1.49 kg as shown in the figure. Initially the two plates A and B are
at rest and move with same velocity after collision. The percentage loss in the initial kinetic
energy of the bullet when it is between the plates Aand B 1s

(Neglect any loss of material of the plates during the collision)

10 g $SgoeBtie 2,8 2085 Hbod® drnd Jdom 500 g ¢khsord He a8 Hof A hom
drdosg) 1.49 kg (BS5go8 fio Bodd Hod B &% 39 alo@tdFonod. Food JHoRes”
) 60 Hogen Adoddin B eddrdo Sovid 2,8 aifod Eheron. e08E ASbodn B
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Question Number : 89 Question Id : 4557344089 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The moment of inertia of a body about a given axis is 12 kgm?. Initially the body is at rest.
In order to produce a rotational kinetic energy of 15000 J. an angular acceleration of
10 rads™2 must be applied about that axis for a duration of

w8 S8 sdde Erdso aihd wgo Hdomr 12 kem?. Boocdey = 5509 Doesvoe &ob.
15000 J g5om0 #8350 & Bosodds 10 rads? o Hgdeo
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Question Number : 90 Question Id : 4557344090 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A light rope 1s wound around a hollow cylinder of mass 4 kg and radius 40 cm. If the rope 1s
pulled with a torce of 40 N, it’s angular acceleration is

4 kg o (855078, 40 cm © agRrgsnte e ?T@j?&ga‘}-j ot BO8S &y trd.
2 e

£J
@ @k 40N pood ornd, & Srdo AnE) Floh didno
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Question Number : 91 Question Id : 4557344091 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

In the case of a simple pendulum executing SHM., at t = 0. the bob is not at the mean
position. The graph drawn between the tension (T) in the string and time (t) is

o

S 5 & Sedo *353:-;’}31 ¥ ednstofo Jhdchos t=0 ;ig e faodky m@gmg

o
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Question Number : 92 Question Id : 4557344092 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

An artificial satellite of mass ‘m’ 1s moving along an elliptical path around the earth. The
areal velocity of the satellite 1s proportional to

‘m’ I8550rE e el 5yS eoiiradn grdn hday 53 Hvaesd 8005t &Saridod.
S8 S 5 W, N 2

SHET Dagano HOE v Erddrdos® eodi.
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Question Number : 93 Question Id : 4557344093 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



A rubber cube of side 5 ¢ has one face fixed while a tangential force 1800 N 1s applied on
its opposite face. If modulus of rigidity of rubber is 2.4%10° Nm™ then the lateral
displacement of the strained face is

Scmebeo arddm e el {5?.%:,-1‘0 B0 cfs:oéﬁr 2.8 a‘i;o-;p‘-'&s;l ?ﬁg{:’aom o), w8 wdibnpom
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Question Number : 94 Question Id : 4557344094 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Water stands upto height ‘h’ behind the dam as shown in the figure. The front view of the
dam gate 1s also shown in the adjoining figure. Density of water 1s *p’ and acceleration due
to gravity 1s *g’. If atmospheric pressure force is also considered. the point of application
of total force acting on the dam due to water above ‘0’ 1s
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Question Number : 95 Question Id : 4557344095 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The time taken for a calorimeter contamning 75 g of water at 62 °C to cool to 58 °C is
9 minutes. When the calorimeter contains 105 g of water. 1t takes 12 minutes to cool from
62 °C to 58 °C. The water equivalent of the calorimeter is

75 g8 €DAS 365°0 Hrdady 62 °C K08 58 °C & Serdotads Hénseeo 9 Dinaren. 3¢65°0

Srdydaest 105 g ef)yd 62 °C dood 58 °C &0 derdhbrso Hiysroo 12 ddoaren.

BeTadrddy A ég_r ai@é_‘imﬁgc: o

Options :

L 10 g

Question Number : 96 Question Id : 4557344096 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Three rods of same dimensions have thermal conductivites 3K, 2K and K. They are arranged
as shown in the figure below. Then in the steady state the temperature of the junction *P’1s

a8 Soden o Srd §Go 41575 Hosen 3K 2K 50050 K.« $god §od

£
HE3850065° SPEHSENmT QoD BaTd. doks %@Eﬁi e Bof P I s

Question Number : 97 Question Id : 4557344097 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Freezing compartment of a refrigerator is at 0 °C and room temperature 1s 27.3 °C. Work
done by the refrigerator to freeze 1 g of water at 0 °C 1s

(Lice=80cal g™)
BEe0L6 @Rofl BB &S 0 °C 08050 KB aPid 27.3 °C. 0°C 54 o 1 g Hesk
DO D0H Bt BHE0LE D05 DD (Ly,.= 80 cal g)
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Question Number : 98 Question Id : 4557344098 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Tyre of a bicycle has volume 2% 107> m?®. Initially the tube is filled 75% of its volume by air
at atmospheric pressure 10° Nm™. When a rider is on the bicycle. the area of contact of
tyre with road is 242 10~*m?. The mass of rider with bicycle is 120 kg. If a pump delivers
a volume 500 cm?® of air in each stroke then the number of strokes required to inflate the
tyre is (g = 10 ms™2)

a8 285 Fdh 2x107 m? $o5505r0°0) S0 @od. Bndd Tedm DESO
10° Nm™ S Largd DoDH0HT0e5” T5% HS5H05r0°Q) mOHE Dodrd. a8 avird T a8d
285 D afdyds S HYTtED) B Progo 24x107P mE 2ESS 0D SEBd
BSgoe 120 kg, a8 Hod) & 35S 500 cm’ H1r85588r00 Ko mdd ddde T8,

86 rom mdd JoPL® THOVN e Jopg (g=10ms>)
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Question Number : 99 Question Id : 4557344099 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A diatomic gas consisting of rigid molecules is at a temperature of 87 °C. If the moment of
inertia of the rotating diatomic rigid molecule is 2.76<107° gem? then the rms angular
speed of the molecule is (Boltzmann constant = 1.38 x 1072 JK™)

GSyd w0 EOAS &8 HH0ST0s arodnd) B0s), warid 87 °C. gfdomo ﬁiﬁlﬁtﬁjcﬁg
BeHE508 Sy wend) Bis Ersgo 2.76x107° gem?eond, ®wnd) Gy, ms §dob
S& (5°95>5 Horogo = 1.38 x 1072 JKH)
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Question Number : 100 Question Id : 4557344100 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If the length of a stretched string 1s shortened by x % and the tension 1s increased by 44%
then the ratio of the final and mitial fundamental frequencies is 1:2. the value of *x" 1s

ribobhads dod g5g88 44% o), il x% S0oRSHE TR Hh Hdoh &9
Erdans FHadsgane AME 1:2. sond X Heud

Options :
1. 20
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Question Number : 101 Question Id : 4557344101 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A small source of sound vibrating at a frequency 500 Hz is rotated along a circle of radius

100 ; s :
—— cm1 at a constant angular speed of 5 revolutions per second. The minimum and maximum

T
frequency of the sound observed by a listener situated in the plane of the circle is

(Speed of sound 1s 332 HIS_IJ'

500 Hz &dargd)) 20008508) OF) e 2580 cm argirdo e S5yE Hohdoad

i
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Question Number : 102 Question Id : 4557344102 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
A lens forms real and virtual images of an object when the object is at u; and u, distances
respectively. If the size of the virtual image 1s double that of the real image. then the focal
length of the lens 1s (Take the magnification of the real image as ‘'m”")
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Question Number : 103 Question Id : 4557344103 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Two point sources S, and S, separated by a distance 10 pm emit light waves of wavelength
4 pm 1n phase. A circular wire of radius 40 pm is placed around the sources as shown in
figure. then

(O 1s the centre of the circle and OS, = 0S,)

10 pm &rdoB It Bobds dod Dot adsres S, &bdw S, .4 um $oif@yggo 8Oh o3
S$IS” &) 508 Slomod GIbian. & adsTe iy 40 pm sgardo o wl SErEs s
SIS HLoS® WrhHdtum GoTd, vand

(0 58 Bogo Hooin OS, =08S,)

Options :

Points A and B are dark and points C and D are bright
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Question Number : 104 Question Id : 4557344104 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Two equally charged metal spheres A and B repel each other with a force of 4x107° N.

Another identical uncharged sphere C is touched to A and then placed at the mid point of
the line joining the spheres A and B. The net electric force on the sphere C 1s

BErS wneon e Do BEHErS 575D Foeen A Sibosn B o) 4x107° N aeod’
DE0OIE RN, D8E JBIHITH wRFgrd Fdo C S Yo A & 4adod, S
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Question Number : 105 Question Id : 4557344105 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Four positive point charges +q are kept at the four comers of a square of side /", The net
electric field at the midpoint of any one side of the square 1s

1 "
Ax Eﬂ J
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Question Number : 106 Question Id : 4557344106 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Four capacitors marked with capacitances and break down voltages are connected as shown
m the figure. The maximuum emf of the source so that no capacitor breaks down 1s

o i
| | | |
1kV 2kV
uiles
RE
2UF 3UF
| | [i4]
| | |1
ZkV 1kV
Options :
| 105kV
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5 225kV
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Question Number : 107 Question Id : 4557344107 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A Van de Graff generator has a spherical metal shell as an electrode which is at a potential
15%10° V. If the dielectric strength of the surrounding medium is 5107 V! then the
diameter of the shell is

@

§ AT 25006 Soth . SR Fesd Sojlefe 15x10% V FHY0HS DG w8
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Question Number : 108 Question Id : 4557344108 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A dc source with internal resistance Ry 1s connected to three identical resistors each of

resistance R as shown in the figure. If the thermal power generated in the circuit is highest.
then

®
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Question Number : 109 Question Id : 4557344109 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

In a potentiometer. a wire of length 10 m having resistance 50 £ 1s used. A batteryof 5V
and a resistor of 450 (2 are connected in series to the wire. If an unknown battery of emf
‘E’ balances the potentiometer at 450 cm. then the value of E 1s

o8 FDY@roGS” 10 m &dP, 50 Q1FGe Ko 1S Taad. & &5 @SS 5V
EI‘E}EJE‘: 0_:"5':1‘5&3' 450 Q &6 G0 Ko :-JSEEUEJ*] g0hardy. f @000 emf ‘E’ e 2.8 e:rfguu

& FBYGETHLE5 450 cm 58 Seogo BHHEL0NB, E Dend
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Question Number : 110 Question Id : 4557344110 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A long straight wire carryving electric current ‘1" is bent at its mid point to form an angle of

45% as shown in the figure. Magnetic field at a point P at a distance d from the pomnt Q of
bending is
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Question Number : 111 Question Id : 4557344111 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A current carrying square loop is placed near a straight infinitely long current carrying wire
as shown in figure. The torque acting on the loop is
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Question Number : 112 Question Id : 4557344112 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

At a certain place. the horizontal component of earth’s magnetic field 1s NE times the
3

vertical component. The angle of dip at that place is

2.8 PR¥0S® girwohar od IE 82 Hdrodd wodo, ov0 §&= orofosd &2, &5
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|rosdoes® wdard §'wo

Options :
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Question Number : 113 Question Id : 4557344113 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The energies required to set up in a cube of side 10 cm
(a) auniform electric field of 107 V! and
(b) auniform magnetic field if 0.25 Wbm 2 are respectively about

(Lp=4m<107 Hm, €,=8.9x1012 Fm1)

10 cm gheso Aoy Hrdes®
(a) 868 eSS FESn 107 Vor' Sabasn
(b) 2868 waham o Jgsn 0.25 Whm™ JEYE S8 FTEORS FHien SHODT T

(Lp=4m<107 Hm™, €,=8.9x10"12 Fm™)
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Question Number : 114 Question Id : 4557344114 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The rms value of emf given by E = (8 sin @7+ 6 cos of) volt is

E = (8 sin 0 + 6 cos @f) volt Harey Gog), rms Hend
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Question Number : 115 Question Id : 4557344115 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

An electromagnetic radiation has an energy 14.4 ke'V. To which region of the electromagnetic
spectrum it belongs

2.8 DeSgticsar o8 HE8Sdxn §§ 144 keV. Hiagsoshoam, 08 54510650 o Frodsndss
& D80dn Dothdod.
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Question Number : 116 Question Id : 4557344116 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

An o - particle and a proton are accelerated from rest by the same potential. then the ratio
of their de-Broglie wavelengths is

2.8 O - §00 S0b00in a8 (@Frae mrfﬂﬂ‘-ijgé $08 8 FHACHS 508 ;réngdzao Do,
wond 8 & Erod $ondoge VS
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Question Number : 117 Question Id : 4557344117 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The difference between the radii of n™ and (n + 1)® orbits of hydrogen atom is equal to the
radius of (n— 1)® orbit of hydrogen. The angular momentum of the electron in the n™ orbit
is (/7 1s Plank’s constant)

TEES B6Sredety nd Hocdy (o + 1S g5go agar To gdo @ad Bns
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Question Number : 118 Question Id : 4557344118 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The maxinmm potential energy due to electrostatic repulsion between two hydrogen nuclei

=9x10° Nm~ C™

1s nearly (radius of the nucleus = 1.1 fernu) 1
+ILE

o4

doth TEee Sose 5653 f—’r_%c‘_'i DegS DEG Sod £O1 116 H&=FE st

1 -2
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" = | 4ngg
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Question Number : 119 Question Id : 4557344119 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

For the combination of logic gates shown in the figure. the equivalent logic gate is

DtrS0rest SrHeds 40 ooore Somsdnsi BegaS h v.~g5.;333
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Options :
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Question Number : 120 Question Id : 4557344120 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



A TV transmifter has a range of 50 km. The height of the TV transmutter is
(Radius of the earth R. = 6.4 = 10°m)

a8 TV a0 50 km argn)d 580 sob, wond TV B0 Jdy
""{LT‘DG .-“F"‘;"-‘C“< i = il I &
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Question Number : 121 Question Id : 4557344121 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The ratio of de Broglie wave lengths of two particles. having mass ratio 1:3 and kinetic
energy ratio 2:1 is

D508 QE 1:3, déedfo dME 2:1 Ho Both Swro G1E7°9 ddor Bomge Qa8
L D —D T —0 o i) |
Options :
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Question Number : 122 Question Id : 4557344122 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



If uncertainities in the measurement of position and momentum of a microscopic object
of mass ‘m’ are equal. then the uncertainity in the measurement of velocity 1s given by the

exXpression
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Question Number : 123 Question Id : 4557344123 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

In lanthanides. with increase in atomic number atomic radius decreases. except for the
element X, What 1s X?

erofBRee”, Hdirm Sopy WHHEeS X SHrofo HIF DoNdS oSt Hdra
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Question Number : 124 Question Id : 4557344124 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Dipole moment order of which of the following pairs of molecules is not correct?

Bo& J=od) wmnHes® OIS |8 (Ead0 BB Te?

Options :

| HF > HCl

. Hp8 > CO,

-

I\:H_?, = I\?g

A CH4 - CHC].3

Question Number : 125 Question Id : 4557344125 Question Type : MCQ Display Question Number : Yes Single Line Question

Option : No Option Orientation : Vertical

X and Y are the two covalent molecules in which the hybridization of the central atoms is
same. but shapes are different. X and Y are

JeeT® ol DBHreed) HosbEdmo LEE wonsHis

I

X. Y &0 Botdy Hdodradch =
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Question Number : 126 Question Id : 4557344126 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

At same temperature and pressure. the rate of diffusion of gas ‘X is 3./3 times that of a
gaseous hydrocarbon of molar mass 54 g mol™!. The molar mass of X in g mol™ is

58 SIS, adSo 54, X ©d arain arghs v, 54 g mol ™ Frer5 B550°8 e ot

TETHe 50T 33 Oty 88, X Jrerd (85078 g moltexes®
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Question Number : 127 Question Id : 4557344127 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
From the given reaction
2KMnO, +3H,80, +5H,0, — K,S0, +2MnS0, +8H,0+50,
Find the normality of H,O, solution. if 20 mL of it is required to react completely with

16 mL of 0.02 M KMnO, solution. ( Molar mass of KMnO, = 158 g mol ™)

§od aSmaAs 65 oo

16 mL & 0.02 M KMnO, (S7er5 3855078 KMnO, 158 g mol™) & b WOgT 0H0WLTIS

20 mL H,O, Hee0 e5ddHonsd, o @rhno ool Shfrbido.
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Question Number : 128 Question Id : 4557344128 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



At the temperature T(K) for the reaction X304y —> 2XO0yy AU= vkImol ™,
AS=y TK 1mol™! . Gibbs energy change for the reaction is

(Assume X,04. XO,are ideal gases)

AU = xkImol . AS=y] K~ mol™
& S0gs ad)) €8 vty (Xp0,, XOy o wsdodindent grdoidn)

Options :

, 1000 x+2R (T —y) Jmol™

1000 x+ T (2R —y) J mol!
x+T(2R—y)Jmol?

x+2R (T —y) I mol™!

Question Number : 129 Question Id : 4557344129 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Arrange the aqueous solutions of the following salts in the increasing order of pH

pH 280 o5 180d odwre 2o (PHmmred) ot 33832

CuSOy NaCN KCl
I II III
Options :
 I<I<TI
2, e Al I
S <T <1
G =T <1

Question Number : 130 Question Id : 4557344130 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



For the gaseous reactions (I) and (II). the equilibrium constants are X and Y respectively.
1 Ny +Oappy = NO
L 5N 7% = NORg)

L 2NOyq) 7= NyOy,

Using the above reactions the equilibrium constant Z for the reaction (IIT) given below 1s
I NyOuge) = Nogy 20y
moﬁmﬁdém (I). (IT) %0 3’3553@?%01@?@ adsm X Y.
'y .
L ENE{E} + 0y = NOy,

IL IZNGE{,T} — NoOyy
P Sdged &Ha@rhod ok 6y (II) % Eﬁ‘éﬁ)@%ﬁ‘@gﬁ £ Jend

IIT. Nzﬂz;{._m} _ Nz{.:-} +202—{e-}

Options :
| =XV
72
Z:&
2 X
s T
3 XY
1
L=
4 XY

Question Number : 131 Question Id : 4557344131 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Match the following
List-1 List-1I

A)  Electron deficient hydride I) CH,
B) Electron precise hydride Il B,Hg
C) Electron rich hydride ) CaH,
D) Saline hydride IV) NiHgg
/) PHj
1808 S8 2dRdddw
erda -1 erdar - 11
A) Jdogs Srgdd TEE I) CH,
B) Jogoen sihdom o ThEE Iy B,Hg
C) ogow whfor feo Tr@Ee Iy CaH,
D) %8 @Ee IV) NiHpg
V) PH;
The correct answer 1s
SOGHE SdrprHdn
Options :
(A) (B) (©) (D)
I IV I V
(A) (B) () (D)
5 3L I I v
(A) (B) (©) (D)
3 V I I v
(A) (B) (©) (D)
s I I Vv m

Question Number : 132 Question Id : 4557344132 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Be and Al show similarities in properties due to diagonal relationship except in the property
X given below. What is X7

10 X J0HEE, 0N domees® Be. Alen 8¢ Jo22000 8 ArdrHgddy W) Ero.

Options :
Both form basic oxides and hydroxides

Botr 578 s81605, TESHE05 QB
o alg o

o

H—

Tons of both have strong tendency to form complexes

Dofodl woirgsy B03LodR) rdfso poom ¢otnod

In vapour phase chlorides of both have Cl~bridged chloride structure

70500 (@rHPS” BOOGH, worglodoha FokosH CImH5o8s Homymren todron

Chlorides of both are soluble in organic solvents

Gofold §0&ey §6\S [d0e” §dhiraron

Question Number : 133 Question Id : 4557344133 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

In the structure of BoHg . the number of BH, groups present i one plane. and the munber of
B—H bonds. B-B bonds. B-H-B bridge bonds are respectively

B,Hg do7y00e5° w8 $0065°0 BHy ddrdte dopg Sdasn B-Hwozre, BB aory,
B-H-B 7¢§ ofre ;’Jogjgfm HHdmr

Options :
(2.0,

LR ]
(R ]

2
i
=
o

Question Number : 134 Question Id : 4557344134 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Identify the incorrect statements from the following

I Tinin+2 state acts as reducing agent while lead in +4 state acts as strong oxidising
agent,
Silicon exists as both [SiFs]>~ and [SiCls]*~ forms

I
IM. The hybridisation of carbon in fullerene is sp?
IV

T

Among Ge. Sn and Pb lowest melting point is for Sn

Boh odes® 6T Tgpgodn Hiodidn
L &&a +2 % 5° BoSEddlnmd, 86 +4 ms‘i“aej*‘ pod =§Eddne ADTASH

I 5858 [SiFs)> . [SiCL]*" =3 tods drareds® efosis
I He0IS" shS sp’ HosbEsnod® ok
IV. Ge. Sn. Pbe¢5® Sn 8035 (3055 Lrd) 89 ot

Options :
1 LIV

ILIV

[

3 ILITT

4, LIV

Question Number : 135 Question Id : 4557344135 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Methane of the polluted air reacts with ozone and forms the compounds

..'1]

ey mOST God P, LESE IUgToh JGUB a"’b &aren

Options :
H- rﬁ ~H,0;
O

H- (|:| —H., CHy=CH-—CHGQG
O

[

CH,=CH-CHO. C,H;CHO

C0,.H,0

=



Question Number : 136 Question Id : 4557344136 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Assertion (A) : Propene on addition with hydrogen bromide in the presence of peroxide
gives 1 - Bromopropane as the major product

Reason(R): |- Bromopropane is the major product because it is formed through the
stable carbocation

B
Jod

&y
o o

Q&do (A): oS & 8080”5
Loy

ot =t

T F e TGS Hokwdo Bob 1 - arEFnes
e e
o i

Ealmps’ ﬁéﬂéﬂpﬂﬁ gﬁ%;‘n

20

s*dmo (R): 1 - @'3rE@as (s aédo JodEsm ©b QOB 50)yE ol

SHok Déﬂjrﬁ;;‘ﬁ}

The correct answer 1s
5369_33;5 4y S AL e

Options :
(A) and (R) are correct. (R) is the correct explanation of (A)

1 (A) 08050 (R) 28005 Sdasn (R), (A) & 38508 D6

(A) and (R) are correct but (R) 1s not the correct explanation of (A)

(A) 08a3n (R) 385080 =0 (R). (A) & 56005 Ddd 52

(A) 1s correct but (R) 1s not correct

, (A) 30556 50 (R) H0GE6 76

(A) 1s not correct but (R) 1s correct

, (A) 30058 565 50 (R) 865056

Question Number : 137 Question Id : 4557344137 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Which of the following represents the hyperconjugation effect?

Bob TE3eST 6 e&doonN) IHerard) Sg8o BosK?

Options :



Lo

B
N/

T

o= TN — 3

Py— Y
|
@I

(:H_j’ —= CH: = CHE —— (.__1

:NH>
&) 2
©
T —

L
NH,

Cr

H H H H

| | | |
H—C—C¥P «—> " c=cC

| | | |

; H H H H

Question Number : 138 Question Id : 4557344138 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Crx 05/ % CH;COC1 N
Hexane—zsit - X Auhydrous AIC, ¥
e 10-20 atm e

Y i the above sequence of reactions is

P EarS S6gos”t Y edsh

Options :
T
| Cglls—C-H
O
|
, CeHs—C—OH
3 CﬁHﬁ—C'Hj
0
CHs—C-—CH;



Question Number : 139 Question Id : 4557344139 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A metal crystallizes in two phases. one as fce and other as bec with unit cell edge lengths of
3.5 A and 3.0 A respectively. The ratio of density of fcc and bee phases approximately is

&8 o Bodb L&a’}p:eej"' m*f}é"cﬁ 0o @Wohoh. wEtd Jodsohd foaososs® (fec),
S6°EL wod: SoHd nms‘-uﬁocﬁ’ (bee) &of. 788 charddS 8 =oth Fdden Shdm

3.5A.30A fec bee rSge Frodde I8 Ddrdn

Options :
1 1.5:1.0

1.0 1.5

1

s 188 1

4 1:1.26

Question Number : 140 Question Id : 4557344140 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

When 36 g of a non-volatile. non-electrolytic solute having the empirical formula CH,O
1s dissolved in 1.2 kg of water. the solution freezes at —0.93 °C. The molecular formmula of
the solute is (K;of water = 1.86 K kg mol™)

058 e CHO o 36 go o werd)3e, eddigidngs oraed) 1.2kg a8
olileIalyl .;..a:f\f' oo —0.93 °C 3¢ DonfdNo BohdS, & Fado Sl SEriden) ok
(045 Krdend 1.86 K kg mol™)

Options :

| CHO

CH,0,

[

;3 C3HgOs

+. CaHsO,

Question Number : 141 Question Id : 4557344141 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Benzene and toluene form an ideal solution over the entire range of composition. The
vapour pressure of pure benzene and toluene at T (K) are 50 mm Hg and 40 mm Hg respectively.
What is the mole fraction of toluene in vapour phase when 117 g of benzene is mixed with
46 g of toluene 7 (molar mass of benzene and toluene are 78 and 92 g mol! respectively)

e

]

BoMHS wiGheos” BoRd, LOSw =8 SR S Haron. TK) 58 Hg
S 0 mm Hg. 40 mm Hg =o0sd& 117 g 5-32555535
46 g £5°OSE KDHEHYD, erd) @SHS° 78D B o Jod? (FoRy, 5708 Jrerd
GSgordHen SEdr 78, 92 g mol! ex)

Options :

. 0.78
, 0.21

5 0.64

=
=2
Lad
h

Question Number : 142 Question Id : 4557344142 Question Type : MCQ Display Question Number : Yes Single Line Question

Option : No Option Orientation : Vertical

The rate equation for a first order reaction is given by [R] = [R] ™. A straight line with
positive slope 1s obtained by plotting

([R]y = Initial concentration of reactant. [R] = concentration of reactant at time. t)

HE50 (E808 SEgk Bew HMEGo [R]=[R]p eXrr adindss. Bobari3s® 3¢5 Sodg
835 Bgr Do dlaren HY) S8y I8 ek

([R]p = Eosradso @rdod mdd), [R] =tswo 54 Soirasso mEs)
Options :

i

102@ Vs tume
[R] 5830

[R] Vs time
7 S0

log [R] Vs time
3 570



[R]
1 &
oz [R]U Vs tune

4 5 0

Question Number : 143 Question Id : 4557344143 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

For the oxidation of 0.2 M FeSO, solution 0.965 amperes current is passed through it for
1 hour. The volume of the solution that is oxidised in mL is

0.2 M FeS0O, &e7q) -%‘%:igfii}iﬁéfﬁé 0.965 250230338 DGogad 1 fobrariy @560
WHIHNE, w§i8dno Bod Edno HSHOSrHo mL e’

Options :
. 70

30

L2

3 60

4. 90

Question Number : 144 Question Id : 4557344144 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Freundlich adsorption isotherms for the physical adsorption of a gas at temperature
T; . T, and T5 are shown in the graph given below. The correct relationship betweenT; . T,
and Tyis

§ob BDrHernd® Ty . Th. Ty GES 56 aoins F88 ©hF 08 Ho20500S @Fonoda

S Open drdemon Ty, Tr. Tye Dodig 585005 Howodo

o

TR
LK
i ;K
5
i
=

Options :
1 T1 = Tp__ = T3



.T3‘:T1"~'T1

(]

T3 == 1"1 = Tl

.TE{TI‘JT3

Question Number : 145 Question Id : 4557344145 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The ore which is concentrated by leaching

UEFS0 oo ro|f8dmo Bodwd So& ndzo

Options :
| PbS
, ALO;.2H,0

- 5n0;

FEj_D_:;

Question Number : 146 Question Id : 4557344146 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Hot concentrated sulphuric acid on reaction with which one of the following elements.
produces two gaseous products?

A& e Berg8§ &0, Bob 2 Soreosod® $EgSob Bod ain SdTIDK JYKEH5?
Options

5

1,8

;3 Cu

4, £n

Question Number : 147 Question Id : 4557344147 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



The pair of xenon compounds which have same number of lone pairs of electrons on the
central atom is

e 2odd

o

Bo(38 HESTend D DEEH Dopges® wobd JoES oben e JoS B

Options :

1 XE‘Gg 5 XEFﬁ

. XE'FE " XE‘F4

L3

XeF, . XeOy4

; XE‘F4 . XE‘DP;;

I

Question Number : 148 Question Id : 4557344148 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Which of the following statements are correct?

I) Pymolecule is very reactive because of angular strain

M) The basicity of HPO515 3

IT) In gasphase. all P-C1bonds of PCl; have same bond length

IV) Insolid state. PCl; exists as an 1onic solid. in which anion [PCls] has octahedral and
cation [PCl,]™ has tetrahedral shape.

) &0y @aRe” PCl &7 @d) P-Claomen &8 w0 BomgR) §9 otron
IV) 508 986" PClseodrQg 208 dordom ok, ried” sioira [PClg] & ssirgd
& & %
w88, 0ora [PCL]" & Sirm@d w88 wodnab

Options :
| 1&I

2 H&IV
[&IV

3.

, I&M



Question Number : 149 Question Id : 4557344149 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Arrange the following ligands in the order of increasing field strength
§o& Brrogd 3¢ awo DO (EB0e® =B

H,O cO NH; I F
I I It IV V

Options :
 IV<V<I<I<I

AN EYII<H<=]

5 Vi IVl I< T

L IV<I<V<IO<II

Question Number : 150 Question Id : 4557344150 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

For which one of the following elements. M?* | M** standard electrode potential is more
positive?

180 ?

ob Srosos® B8 M| M pire Jogs 60 ©68 fod

Options :
1V

Cr

[

3 Mn

4 Fe

Question Number : 151 Question Id : 4557344151 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Which one of the following structures represents the neoprene rubber?

§od Do’ 20 AIGTES Jipdd Sg8o BosG?

Options :



fCH,~-C(C)=CH-CH, },

+CH,-CH=CH-CH,—CH, - CH (CN) },

L2

. FNH-CO-NH- CH, 1

4 OCH, - CH,00 C ot

Question Number : 152 Question Id : 4557344152 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The type of bond connecting two nucleotides is

Bod Srg8irBhes §0% mod dso

Options :

Hydrogen bond

@ e wodo

[

Phosphodiester bond
TG0 200
3, i

Glycosidic bond

ﬁ%“"‘ﬁfﬁé— 2050
ot

Question Number : 153 Question Id : 4557344153 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



OH

NaOH (1) CO,

(i H'

87 (CH;CO),0/H™

>X sZ + CH,COOH
The correct statements about Z from the following are

I) TItiso-Hydroxybenzoicacid

II) TItisanon-narcotic analgesic

II) TItactsas antipyretic

IV) Itacts as antithistamine

OH

. BN fi}_ﬁ? vy (CHLONOMT 5 hCG0H

) 2 o-Es
) 286 &8 - o685 25908
IV} 28 rddd H686m H08d06

Options :
| &I

L2

&IV
; D&IV

, 1&TI

Question Number : 154 Question Id : 4557344154 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Identify the halogen exchange reaction from the following

ol or83S” HiS'ed Srdyd 8§ KHBoub

Options :
Finkelstein reaction

$SESBS 63
&



Sandmeyer reaction

Tro&DI050 S5

Fittig reaction

DR 365

Whurtz - Fittig reaction
& 08 - DR B4y

Question Number : 155 Question Id : 4557344155 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Which of the following structures represents cumene?

B0 Jomored” A6 Ergdiasy Bend)doh?

Options :

Question Number : 156 Question Id : 4557344156 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

In which of the following reactions. benzaldehyde is formed from benzoyl chloride and
hydrogen in the presence of Pd-BaS0O,4?

% §ob 8" BoFond 586, TrEadey Pd-BaS0, H&fos” Bomrdirsds 1608

oo



Stephen reaction

E=
B 1555

i

=4

()

Etard reaction

QETg SOy

Gatterman - Koch reaction

meib5oa-50 r:.}’dé

Rosennmmnd reduction reaction

Feados §ogda 6o

Question Number : 157 Question Id : 4557344157 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The reagent used for the conversion of allyl alcohol to propenal is

S 50 FSH @haSmr Srdidos” aidriod sdso

PaCl

Options :

| O3/Hy0—Zn dust (&)

DIBAL-H

L2

; C’ngClz / H3D_

(4]

CsHNH* CrO; Cl-

I

Question Number : 158 Question Id : 4557344158 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The compound which does not respond to 1odoform test is

@NE oo HEES Hododd b

Options :

| CH;—CHO

, CH; CH (OH) CH,



, CHs—CO-CHs

, CsHs CO CH;

Question Number : 159 Question Id : 4557344159 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Which of the following reactions does not represent the aldol condensation reaction?

Boh Sogeres 26 werd [Hodbs 055 SPLouE?

(.|
Options :
. B
)J\ dil NaOH/A
= 26% i
.72 H &
k2 . ) :
A o ?él;:{r{a(}}[i-ﬂ
H + /Y & -
7, O
0
5 )L (i) Ba(OH), (ii) A
3.

' )J\ cone. NaOH/A
i
2> H H 4

b

Question Number : 160 Question Id : 4557344160 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The amine which does not react with chloroform and ethanolic potassium hydroxide is

S8 T, RETOF Firhoho ITEHES SUTesN JDd

Options :
CH; - CH-NH- CH;
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APEAMCET-2018
Engineering Stream Preliminary Key

Q.No. | Answer Q.No. | Answer Q.No. | Answer Q.No. | Answer
1 2 41 1 81 4 121 2
2 3 42 3 82 3 122 2
3 2 43 1 83 3 123 2
4 3 44 4 84 2 124 4
5 4 45 2 85 3 125 2
6 2 46 3 86 2 126 2
7 3 47 2 87 4 127 4
8 2 48 4 88 3 128 2
9 3 49 2 89 4 129 2
10 2 50 3 90 3 130 4
11 3 S1 1 91 1 131 4
12 3 52 4 92 3 132 1
13 3 53 2 93 3 133 3
14 1 54 4 94 2 134 3
15 3 55 2 95 2 135 2
16 2 56 3 96 1 136 3
17 1 S7 3 97 2 137 4
18 4 58 1 98 3 138 4
19 3 59 2 99 1 139 3

20 3 60 3 100 3 140 2
21 1 61 4 101 4 141 2
22 1 62 4 102 2 142 1
23 3 63 3 103 3 143 4
24 1 64 1 104 1 144 3
25 3 65 2 105 2 145 2
26 3 66 2 106 3 146 1
27 4 67 4 107 3 147 1
28 1 68 3 108 2 148 3
29 2 69 4 109 1 149 1
30 2 70 2 110 1 150 3
31 3 71 2 111 4 151 1
32 1 72 4 112 3 152 3
33 2 73 3 113 1 153 1
34 1 74 3 114 1 154 1
35 4 75 3 115 4 155 3
36 4 76 1 116 2 156 4
37 2 77 4 117 2 157 4
38 1 78 1 118 1 158 3
39 4 79 2 119 4 159 4
40 3 80 3 120 1 160 1
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